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BACHELOR OF SCIENCE (B.Sc.) 

LIFE SCIENCE 

Term-End Examination 

LSE-07 : TAXONOMY AND EVOLUTION 

Time : 2 Hours] 	 [Maximum Marks : 50 

Note: (i) Attempt five questions in all. 

(ii) Question no. 1 is compulsory. 

(ii) Attempt any four questions from question no. 

2 to 6. 

1. 	Attempt all parts : 

a) Match the items given under Column A with 
those given under Column B : 	1 x4=4 

Column A 	 Column B 
i) Linnaeus 	a) Vritshayaurveda 
ii) R.N. Whittaker 	b) Five 	kingdom 

system 	of 
classification 

iii) Parashara 

	

	c) Species 
Plantarum 

iv) Engler and Prantl 	d) P h yl og en eti c 
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(b) Define the following terms. 	 1 x3=3 

i) Biogenetic Law 

ii) Herbarium 

iii) DNA Hybridisation 

(c) Fill in the blanks in the following statements by 

choosing the correct alternative from the 

words given within brackets: 1 x3=3 

i) Scientific names are given in 	  

language. (Latin / Greek) 

ii) Absolute dating has become possible by use 

of 	. (radioactive dating /geological 

time scale) 

iii)	 are information carrying molecules 

in plants. (semantides / molecules) 

	

2. 	(a) What are keys? List the two types of keys. 

3+2=5 

(a) Describe the basic principles of Binomial 

nomenclature. 	 5 

	

3. 	(a) What do you understand by kin selection? 

3+2=5 

(b) Discuss the challenges to Darwinism. 	5 

	

4. 	(a) With help of an example explain how highly 

restricted breeding seasons of populations 

contribute to isolation process. 	5 
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(b) Discuss the role of taxonomic characters in 
classification of plants. 	 5 

5. Discuss the evolution of Homo Sapiens. 	10 

6. Write short notes on any two  of the following : 

2x5=10 

(a) Vestigial Organs 

(b) Type Specimen 

(c) Importance of Botanical Gardens 

(d) Hybrid Sterility 
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